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BIHAR BOARD QUESTION PAPER  

हिन्दी माध्यम / ENGLISH MEDIUM   

INTERMEDIATE EXAMINATION - 2015 
इंटरमीडिएट परीक्षा - 2015 

(ANNUAL / वार्षिक)  

ENTREPRENEURSHIP  
सभम : 3 घॊटे 15 मभनट]              [ऩरू्णांक : 70 

 

SECTION - A 

प्रश्न सॊख्मण 1 से 28 तक प्रत्मेक प्रश्न भें चणय विकल्ऩ ददमे गमे हैं, जिनभें से मसपफ  
एक सही है। आऩ उन विकल्ऩों भें से सही विकल्ऩ चनुें एिॊ उत्तय ऩत्र भें चचजननत कयें 

 

1. प्रफॊध करण है 

(a) स्िमॊ कणभ कयने की  

(b) दसूयों से कणभ रेने की  

(c) (a) तथण (b) दोनों 

(d) इनभें से कोई नहीॊ 

 

2. ऩरयमोिनण आकरन है 

(a) ननमणफत विश्रेषर् 

(b) विशषेऻ विश्रेषर् 

(c) रणबदणमकतण विश्रेषर् 

(d) इनभें से कोई नहीॊ 
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3. िोखिभ ऩूॉिी मशरणधणय स्थणवऩत ककमण गमण 

(a) 1970 भें  

(b) 1975 भें  

(c) 1986 भें  

(d) 1988 भें 

 

4.  ननम्न भें से कौन-सी ककस्भ ननमॊत्रर् की विचध है ? 

(a) ननयीऺर् विचध 

(b) सणॊजख्मकीम गुर्ित्तण ननमॊत्रर् विचध 

(c) (a) ि (b) दोनों 

(d) न (a) औय न ही (b) 

 

5. चर रणगत कण शे्रष्ठतभ उदणहयर् है 

(a) ऩूॉिी ऩय ब्मणि  

(b) सणभग्री रणगत  

(c) धन कय  

(d) ककयणमण 

 

6. ऩरयमोिनण ऩहचणन व्मिहणय कयती है 

(a) व्मिहणमफ उत्ऩणद अिधणयर्ण से 

(b) तणककफ क अिसय से 

(c) प्रबणिशणरी भणॊग से 
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(d) इनभें से कोई नहीॊ 

7. उद्मभी के दणनमत्ि है 

(a) सभणि के प्रनत 

(b) सयकणय के प्रनत 

(c) ऩमणफियर् के प्रनत  

(d) इनभें से सबी 

 

8. सणहसी कण कतफव्म है 

(a) भनुणपण िसरूी 

(b) कय चोयी 

(c) ऩमणफियर् प्रदषूर् 

(d) इनभें से कोई नहीॊ 

 

9. एकीकयर् से अमबप्रणम है 

(a) आन्तरयक विस्तणय  

(b) फणनम विस्तणय 

(c) (a) तथण (b) दोनों 

(d) इनभें से कोई नहीॊ 

 

10. टेरीपोन व्मम है 

(a) स्थणमी  

(b) चर  

(c) अद्फधचर 
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(d) इनभें से कोई नहीॊ 

11. सॊिदृ्चध को प्रबणवित कयने िणरे तत्ि है 

(a) प्रनतमोचगतण  

(b) तकनीक भें ऩरयितफन 

(c) सिृनशीरतण 

(d) इनभें से सबी 

 

12. नग्न ऋर् ऩत्र होते हैं  

(a) ऩरू्फत् सयुक्षऺत 

(b) आमशक सयुक्षऺत  

(c) अयक्षऺत 

(d) इनभें से कोई नहीॊ 

 

13. IDBI ककस िषफ स्थणवऩत की गई ? 

(a) 1944 

(b) 1954 

(c) 1964  

(d) 1974 

 

14. रणबणॊश है 

(a) शदु्ध रणब 

(b) रणब कण ननमोिन 

(c) सॊचम कोष 
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(d) अवितरयत रणब कण अॊश 

15. िन ननऺेऩ सणधन है 

(a) अल्ऩकणरीन वित्त कण 

(b) दीघफकणरीन वित्त कण 

(c) भध्मकणरीन वित्त कण  

(d) सणभणजिक ननिेश कण 

 

16. विऩर्न व्मम बणय है 

(a) उद्मोग ऩय  

(b) व्मिसणनममों ऩय 

(c) उऩबोक्तणओॊ ऩय 

(d) इनभें से सबी ऩय 

 

17. रेफमरॊग है 

(a) अननिणमफ 

(b) आिश्मक 

(c) ऐजछिक 

(d) धन की फफणफदी 

 

18. सफसे अचधक व्मणऩक ऺेत्र है 

(a) ब्रणण्ड 

(b) रेफमरॊग 

(c) ऩकेैजिॊग 
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(d) व्मणऩणय भणकफ  

19. प्रफॊध क्मण है ? 

(a) करण 

(b) विऻणन  

(c) करण औय विऻणन दोनों 

(d) इनभें से कोई नहीॊ 

 

20. उद्मभी ऩूॉिी विचणय सिफप्रथभ उत्ऩन्न हुआ 

(a) बणयत भें 

(b) इॊग्रणै्ड भें 

(c) अभेरयकण भें  

(d) िणऩणन भें 

 

21. सभ-विछिेद बफन्द ुक्मण प्रकट कयतण है ? 

(a) रणब 

(b) हणनन 

(c) न रणब न हणनन  

(d) इनभें से कोई नहीॊ। 

 

22. आदशफ चणर ूअनऩुणत होतण है 

(a) 2:1 

(b) 1:2 

(c) 3:2  
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(d) 4:1 

23. चणर ूअनऩुणत होतण है 

(a) आचथफक चचट्ठण अनऩुणत  

(b) रणब हणनन अनऩुणत  

(c) मभचश्रत अनऩुणत 

(d) इनभें से कोई नहीॊ 

 

24. अजन्तभ यहनतमण है  

(a) कोष के स्रोत  

(b) कोष कण प्रमोग 

(c) कोष कण कोई प्रिणह नहीॊ  

(d) इनभें से कोई नहीॊ 

 

25. दीघफकणरीन ऋर् ऩय होतण है 

(a) जस्थय ब्मणि दय 

(b) ऩरयितफनशीर ब्मणि दय  

(c) शनू्म ब्मणि दय 

(d) इनभें से कोई नहीॊ 

 

26. रेिणॊकन की प्रर्णरी हैं 

(a) इकहयण रेिण प्रर्णरी 

(b) दोहयण रेिण प्रर्णरी 

(c) रणगत प्रर्णरी  
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(d) (a) औय (b) दोनों 

27. आचथफक सहणमतण है। 

(a) फट्टण 

(b) रयमणमत 

(c) ऩनु: बगुतणन 

(d) इनभें से कोई नहीॊ 

 

28. ननमोिन सबी प्रफॊधकीम किमणओॊ कण है 

(a) प्रणयम्ब 

(b) अन्त 

(c) प्रणयम्ब तथण अन्त दोनों 

(d) इनभें से कोई नहीॊ 

 

SECTION - B 

प्रश्न सॊख्मण 1 से 7 तक रघ ुउत्तयीम प्रकणय के हैं। प्रत्मेक के मरए 3 अॊक ननधणफरयत है। 
ककन्हीॊ ि् प्रश्नों के उत्तय दीजिए। 

 

1. ऩरयमोिनण प्रनतिेदन के कोई तीन उद्देश्म फतणइए। 

2. व्मणिसणनमक अिसयों की ऩहचणन के उद्देश्म फतणइए। 

3. कणमफशीर ऩूॉिी के चि से आऩ क्मण सभझते हैं ? 

4. विऩर्न मभश्रर् क्मण है ? 

5. रणगत को ऩरयबणवषत कयें।  

6. अिसय रणगत तथण सॊमकु्त रणगत क्मण हैं ? 

7. क्मण प्रफॊध एक ऩेशण है ? 
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प्रश्न सॊख्मण 8 से 11 तक दीघफ उत्तयीम हैं। प्रत्मेक प्रश्न के मरए ि् अॊक ननधणफरयत है। 

 

8. फणिणय भलू्मणॊकन से आऩ क्मण सभझते हैं ? फणिणय भलू्मणॊकन ऩय प्रबणि डणरने िणरे 
घटक कौन-कौन से हैं? https://www.bsebstudy.com 

 

9. ननमोिन की ऩरयबणषण दें। इसकी क्मण विशषेतणएॉ हैं ? 

अथिण 

ननमोिन की प्रकृनत कण िर्फन कीजिए। 

 

10. कणमफशीर ऩूॊिी को प्रबणवित कयने िणरे तत्िों कण िर्फन कयें। 

 

11. प्रफॊध की प्रकृनत कण उल्रेि कीजिए। 
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BIHAR BOARD QUESTION PAPER  

INTERMEDIATE EXAMINATION - 2015 
इंटरमीडिएट परीक्षा - 2015 

(ANNUAL / वार्षिक)  

ENTREPRENEURSHIP 

Time: 3 Hours 15 Minutes]                    [Full Marks: 70 

 

SECTION-A 

For Question Nos. 1 to 28 there are four options in every question. Out of these only one 

option is correct. You have to choose the correct answer from these options and mark in 

the Answer Sheet. 

 

1. Management is an art of 

(a) doing work 

(b) taking work from others 

(c) both (a) & (b) 

(d) None of these 

 

2. Project appraisal is an / a  

(a) Export Analysis 

(b) Expert Analysis  

(c) Profitability Analysis  

(d) None of these 

 

3. Risk capital foundation was established in 

(a) 1970 

(b) 1975 

(c) 1986 

(d) 1988 
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4. Out of the following which is the method of quality control? 

(a) Inspection method 

(b) Statistical quality control method 

(c) Both (a) and (b) 

(d) Neither (a) nor (b) 

 

5. The best example of variable cost is 

(a) interest on capital 

(b) material cost 

(c) wealth tax  

(d) rent 

 

6. Project identification deals with 

(a) viable product idea 

(b) logical opportunity 

(c) effective demand  

(d) None of these 

 

7. Responsibility of an entrepreneur is 

(a) towards society 

(b) towards government 

(c) towards environment  

(d) All of these 

 

8. Duty of an entrepreneur is 

(a) levying profit 

(b) tax evasion  

(c) environmental pollution 

(d) None of these 
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9. Integration means 

(a) expanding internally 

(b) expanding externally 

(c) (a) and (b) both 

(d) None of these 

 

10. Telephone expense is 

(a) fixed 

(b) variable 

(c) semi-variable  

(d) None of these 

 

11. Element affecting growth rate is 

(a) Competition  

(b) Change in technology 

(c) Creativity 

(d) All of these 

 

12. Naked debentures are 

(a) fully secured 

(b) partly secured 

(c) unsecured 

(d) None of these 

 

 

13. IDBI was established in the year 

(a) 1944 

(b) 1954 

(c) 1964 

(d) 1974 
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14. Dividend is 

(a) net profit 

(b) appropriation of profit 

(c) reserve fund 

(d) part of undistributed profit.  

 

15. Public deposits are the source of 

(a) short term finance  

(b) long term finance 

(c) medium term finance 

(d) social investment 

 

16. Marketing expenditure is a burden 

(a) on industry  

(b) Businessmen  

(c) on consumers 

(d) All of these 

 

17. Labelling is 

(a) compulsory  

(b) necessary  

(c) voluntary 

(d) wastage of money 

 

18. Maximum wide scope is of 

(a) Brand  

(b) Labelling  

(c) Packaging  

(d) Trade Mark 

 

19. Management is 
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(a) Art 

(b) Science 

(c) Art & Science both  

(d) None of these 

 

20. Venture capital thought orginated first in 

(a) India 

(b) England  

(c) America 

(d) Japan 

 

21. What does break-even point show? 

(a) Profit 

(b) Loss 

(c) Neither profit nor loss 

(d) None of these 

 

22. Ideal current ratio is  

(a) 2:1 

(b) 1:2 

(c) 3:2 

(d) 4:1 

 

23. Current ratio is 

(a) Balance sheet ratio 

(b) Profit and loss ratio 

(c) Composite ratio 

(d) None of these 

 

24. Closing stock is 

(a) Source of fund 
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(b) Application of fund  

(c) Not any flow of fund 

(d) None of these 

 

25. Long term loan bears 

(a) Fixed rate of interest  

(b) Flexible rate of interest 

(c) Zero rate of interest 

(d) None of these 

 

26. Accounting system is 

(a) Single entry system 

(b) Double entry system  

(c) Cost system  

(d) Both (a) and (b) 

 

27. Subsidy is 

(a) Discount  

(b) Concession  

(c) Repayment  

(d) None of these 

 

28. Of all managerial activities planning is the 

(a) beginning 

(b) end 

(c) beginning and end both 

(d) None of these 

SECTION-B 

Question Nos. 1 to 7 are Short Answer Type. Each question carries 3 marks. Answer any 

six questions. 

1. Give any three objectives of project report. 
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2. State the objectives of identification of business opportunity. 

3. What do you mean by the cycle of working capital? 

4. What is marketing mix? 

5. Define cost. 

6. What are opportunity cost and joint cost? 

7. Is management a profession?  

 

Question Nos. 8 to 11 are Long Answer Type. Each question is of six marks. 

8. What do you mean by Market assessment? What are the factors affecting  market 

assessment? https://www.bsebstudy.com 

9. Define planning. What are its features?  

Or, Describe the nature of planning.  

10. Describe the factors affecting the working capital. 

11. Explain the nature of management. 

 


